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Roll No. 'qﬁmﬁfmqﬁmﬁwg@aﬂﬁ;-
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1 |
: I | | I | | | i 'Candldates must write the Q.P. Code,
1

------------------------- ] 1 on the title page of the answer-book. "

. WWW#%@W—W&W@7?/
%‘oW—Wﬁﬂ@#ﬁefﬁaﬁzﬁqu—/W*/S#Wwﬁm—g@w%
. TE-TI W |

e U TIT WG [ 5T JH-IT G 14 T E | '_';_
| o FHUAT TIT HT IW [o7@T Y& FH T Ugel, II-YIasr 7 T97 & FHIEH |
e 3 YW-UT HI UG @ Io7Q 15 1492 FT GHI 591 T 8 | FeH-9F F AR |
L TE@E H10.15 F9 e T | 10.15 &5 @ 10.30 F5 7% BT T JoT-97 H |
957 3R 39 a1 & R 3 ITR-YIdwH R Hig IR T8l 1@ | :
. e Please check that this question paper contains 7 printed pages. --
e Q.P. Code given on the right hand side of the question paper should be
: written on the title page of the answer-book by the candidate.
o Please check that this question paper contains 14 questions. __
e Please write down the serial number of the question in the answer-book
before attempting it.
- o 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the .

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 2 hours Maximum Marks : 40
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HETITRET 145911 %1 a5 @Iae] & qigq 37t 37T Gxed] & 9 BT :
(i) FTYH-YT & AT GUS & - @US &, & 7Y T |

(ii) Y% GUE HfAarT § |

(ii) WISHH 6 TG IR JHR & F97 8 o8 Fe9% & 2 375 & |
(iv) WIBTH4 TG ITI JHR & 97 8 178 5% & 3 37 5 |
(v) WUE T T 4 FH-ITHIT THR & 97 & 19780 T35 S 4 375 & |
(vi) P I 7 RS [deq 131 11 8 |

(vii) ¥97 G 14 TF JHU-3eJIT HTIIRT J97 & 597 31 9177 § | I39% 97 & 2 37
g/

WIS &
YT G 1 T 6 Th J39h G 2 b 8 |

- - - > - —
1. (F) 3 |a xb|*+]a.b|?=4003R |b |=5%, d |a | & AW

F1a il | 2
YT
(@) uimmr 543 aret o @ff gua gfew Fa hifse s FHesmes-3rett o @
ThHHT hIU SHTd 3 | 2
2. W T T : 2
1
Ixzexdx
0
3. A9 & A, B du Cd Il widl fgges | B & s=i-dfg @ 89 A
ITRIehdT 3T Shifoll, Jfe A §¢ Shid W TSI 7 | 2
4. U THaen @ 91 39T IaT 7 | Feafeaaa arferest 5 udi bt g <1 TRk
s fegmn T 2
X 0 1 2

P(X) K 6K 9K

(%) Ko UH F1d hifT |
(@) = Iz e 1fima a1 olEa 7 2 3t9e 3 o1 ifaey difs | 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper contains three sections — Section A, B and C.
(it)  Each section is compulsory.

(iti) Section A has 6 short answer type I questions of 2 marks each.
(iv) Section B has 4 short answer type II questions of 3 marks each.
(v)  Section C has 4 long answer type questions of 4 marks each.

(vi)  There is an internal choice in some questions.

(vii) Question no. 14 is a case-study based question with 2 sub-parts of 2 marks
each.

SECTION A

Questions number 1 to 6 carry 2 marks each.

- - .9 - = 9 -
1. (@ If |[a x b|"+ |a.b|" =400 and | b | = 5, then find the
%
valueof | a |. 2
OR
(b)  Find all the possible vectors of magnitude 5 V3 which are equally
inclined to the coordinate axes. 2
2. Evaluate : 2
1
J' x2eX dx
0

3. Three friends A, B and C got their photograph clicked. Find the
probability that B is standing at the central position, given that A is
standing at the left corner. 2

4, A coin is tossed twice. The following table shows the probability
distribution of number of tails :

X 0 1 2
P(X) K 6K 9K

(a)  Find the value of K.
(b)  Is the coin tossed biased or unbiased ? Justify your answer. 2

65/4/3 Page 3 of 7 P.T.O.
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5. U gHAA W o5 (-2, -1, -3) ¥ S T & % 918 o @k (1, - 3, 3)

& | THd 1 GHIRT HTd iU | 2
6. qhel THIRT sec? x . tany dx + sec?y.tanx dy = 0 <l =AY A T
hINTT, | 2
LCLCRC)

Y7 GEIT 7 G 10 TF I 9b J97 3 JFH & /

7.  ARY@ y=mx a9 T x2=yésaﬁaﬁi%awéawz—2aﬁwé%,aﬁ

HHTHA o TINT 8 m 1 I-TcHS A9 FTd hIfT | 3
- - — ;
8. W a=2i-—+k, b=i+]-2k 3 ¢ =1 +3] -k &qemafew
> > —
c +1b HIERY a WYY 26 B, A A I UM Hd hifeT | 3

9. (%) I TH W@ x-31& qAT 2-3781 I GATCHD [CIMSTT & hEST: 60° qAT 45°
IV SFTAT ], 1 98 IV T <hITST ST IE T@T y-787 <hl €FTcHe faum &

AT 3 | 37 @ 6l fosp-shrarea fafen | 3
Jroran
(@) vt Hfmfrmn e 2oL Y -2 273 x4 vyl
2 3 4 5 2
fowmaets & an 78 | 3
10. (%) Fa il : 3
J &
e* +1
Jroran
(@) AW Fd I : 3

4
j{|x|+|3—x|}dx
1
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5. The foot of a perpendicular drawn from the point (- 2, — 1, — 3) on a plane
is (1, — 3, 3). Find the equation of the plane. 2
6. Find the general solution of the differential equation
sec?x .tan y dx + sec?y . tan x dy = 0. 2
SECTION B

Questions number 7 to 10 carry 3 marks each.

7. If the area of the region bounded by the line y = mx and the curve x2 =y

is % sq. units, then find the positive value of m, using integration. 3

- A A A > A A A —> A A A
8. If a=21i —j+k,b=1+j)—-2k and ¢ =1 +3j — k and the
o — — - .
projection of vector ¢ + A b on vector a is 26, then find the value
of A. 3
9. (a) If a line makes 60° and 45° angles with the positive directions of

x-axis and z-axis respectively, then find the angle that it makes
with the positive direction of y-axis. Hence, write the direction

cosines of the line. 3
OR
(b) Check  whether the lines X ; 1 =Y ; 2 _Z ; 3 and
X_4=y_1=zareskew0rn0t. 3
5 2
10. (a) Find : 3
J &
eX +1
OR
(b) Evaluate : 3
4
j {x]+]3- x|} dx
1
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Yo7 GeIT 11 T 14 7% J9F 97 b 4 376 & |

11. |9 J7d hIf9T : 4

3 4
I X dx
1+e*

-3

12. Fwaet 7. +37)=6 3 7.3 -] —4k)=0 & vdeT W @
ﬂﬁﬁmﬁﬁtiﬂ |qrgﬁls¢|sﬁ@mﬁwﬁ%wwmﬁﬁnl 4

5 = 0 @ faferse &1 3 <hfsre, feam

13. (%) 3Tdhd THEH xj—y+y+
X

1+x
T ? T y(1) = 0. 4
JraT
(@) 3Adhal GHIR x (y5 + x3)dy = (2y* + 5x3y) dx <1 U A
I | 4
wmanmanwﬁam

14. dRerS % @A ¥, dien @& i I 01 & fou 3/ [ulfa fee e 8 |
%ﬂf{ﬂ%l s S el T T 1 9 d 1 3, STEL i AR ITIsh 1 HH

4 fegmd . .
dE A 10 3T ITed i <hl TTRekdT 0-8 3R e B o 10 37 UTed hid
1 ITReRdT 0-937 |

IUIh T o ER R, Fefafad gei & 3@ e .
aﬁqmi e, qliqwu <& ! 91 ST €, 1 JTReRdT ST shifS, S

(%) <had TH & IR 10 37 I HLAT & | 2
(@) gl dReS 10 37 T d & | 2
65/4/3 Page 6 of 7

Get More Learning Materials Here : & m @&\ www.studentbro.in



EZE

[l
SECTION C

Questions number 11 to 14 carry 4 marks each.
11. Evaluate: 4

2 4

I ¥ dx

1+e®
-3

12. Find the equations of the planes passing through the line of intersection

of the planes 7. (/i\ +33'\):6 and T. (3/i\ — 3\ —41/2) = 0, which are at a

distance of 1 unit from the origin. 4
13. (a) Find the particular solution of the differential equation
X dy +y+ = 0, given that y(1) = 0. 4
dx 1+ x2
OR
(b)  Find the general solution of the differential equation
x (y3 + x3) dy = (2y* + 5x3y) dx. 4

Case-Study Based Question

14. In a game of Archery, each ring of the Archery target is valued. The
centremost ring is worth 10 points and rest of the rings are allotted
points 9 to 1 in sequential order moving outwards.

Archer A is likely to earn 10 points with a probability of 0-8 and Archer B
is likely the earn 10 points with a probability of 0-9.

................... 1 point
............ 2 points
----------- 3 points

--------- 4 points

- = 6 points
= = T points
- 8 points
= "9 points
= 4 =10 points

Based on the above information, answer the following questions :

If both of them hit the Archery target, then find the probability that
(a) exactly one of them earns 10 points.

(b)  both of them earn 10 points.

N do
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Strictly Confidential: (For Internal and Restricted use only)
Senior Secondary School Term II Examination, 2022
Marking Scheme - MATHEMATICS (SUBJECT CODE - 041)
(PAPER CODE - 65/4/3)

General Instructions: -

1. You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under IPC.”

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may
be assessed for their correctness otherwise and marks be awarded to them. In class-
XI1, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, marks should be awarded.

4. The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. The remaining answer books meant for evaluation shall be given
only after ensuring that there is no significant variation in the marking of individual
evaluators.

5. Evaluators will mark( V) wherever answer is correct. For wrong answer ‘X’ be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

6. If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

7. If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

8. If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out.
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9. No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

10. A full scale of marks (example 0-40 marks as given in Question Paper) has to
be used. Please do not hesitate to award full marks if the answer deserves it.

11. Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books per
day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

12. Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totalling of marks awarded on a reply.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totalling on the title page.

e Wrong totalling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

13. While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

14. Any unassessed portion, non-carrying over of marks to the title page, or totalling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

15. The Examiners should acquaint themselves with the guidelines given in the Guidelines for
spot Evaluation before starting the actual evaluation.

16. Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

17. The Board permits candidates to obtain photocopy of the Answer Book on request in an RTI
application and also separately as a part of the re-evaluation process on payment of the
processing charges.

XIl_129 041 _65/4/3_Mathematics # Page-2

Get More Learning Materials Here : & m @&\ www.studentbro.in



MARKING SCHEME

Senior Secondary School Examination TERM-II, 2022

MATHEMATICS (Subject Code-041)
[ Paper Code : 65/4/3 ]

Maximum Marks : 40

Q. No.

EXPECTED ANSWER / VALUE POINTS

Marks

SECTION—A
Question Nos. 1 to 6 carry 2 marks each.

QL

— — 92 - = 9 -
(@ If |a x b|"+ |a.b| =400 and | b | = 5, then find the

_)
value of | a |.

OR

(b)  Find all the possible vectors of magnitude 5+/3 which are equally

inclined to the coordinate axes.

Al.

@ |al?2|b[%sin20+]al?|b|? cos?0 =400
|a|?-25(1) = 400

|a|®=16

la|=4

Yo

Ya

Or

(b) Let the required vector be xi + xj + xk

V3x2 =543

x2=25:>x=i5

Required vectors are 51 +5]+5k or —5{ —5] —5kK .

Yo

Ya

Yo
Yo

Q2.

Evaluate :
1

I x2e* dx
0

A2.

Get More Learning Materials Here: &

1 1 4
j x2eXdx :[xzex} —j2xexdx
0 0 i

1
= [XZGX —2xe* + Zeqo

=e-2

Yo
Yo
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Q3. | Three friends A, B and C got their photograph clicked. Find the
probability that B is standing at the central position, given that A is 2
standing at the left corner.
A3. | E; : Bisstanding at centre position } Y,
E, : Ais standing at left corner
P(E;nEy)
P(Ey|Ep) =—2——2
P(E2)
1
-6_1 1t
277 2
6
Q4. A coin is tossed twice. The following table shows the probability
distribution of number of tails :
X 0 1 2 2
PX) K 6K 9K
(a)  Find the value of K.
(b)  Isthe coin tossed biased or unbiased ? Justify your answer.
A4, | 16K =1 Let P(T)=p and P(H)=q
1
a) K=—
(@) K=o 1
1 6 9
b) PO)=—, PQ)=—, P(2)=—
() P(0) =15 PW =75 P =2
1
=27 ¥
Since P(H) = P(T), the coin, so tossed, is biased. v,
Q5. The foot of a perpendicular drawn from the point (- 2, — 1, — 3) on a plane )
is (1, — 3, 3). Find the equation of the plane.
AS5. | DR.’s of normal vector are <3,— 2, 6) A (=2,-1,-3) 1
Equation of plane is : I
3(x~1)-2(y+3)+6(2-3)=0 l
B
Q6- Find the general solution of the differential equation
secZx.tany dx + sec?y . tan x dy = 0. 2
2 2
A6. | Given differential equation can be written as 3¢ X gy €€ ¥ 4, _ g 1
tan x tany
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Integrating, log|log x|+ log|tan y|=logC Y
tanx-tany=C &
SECTION—B
Question Nos. 7 to 10 carry 3 marks each.
Q7. If the area of the region bounded by the line y = mx and the curve x2=y
is 1—2 sq. units, then find the positive value of m, using integration. 3
AT.
(for correct figure) 1
x-coordinates of points of intersection are 0, m. Yo
. . 2
According to question = I(:n (mx— x2) dx = % Y
2 3"
S o I "
2 3 3
o
3
m> 32
— = om’=64
6 3
=>m=4 1
Q8. If:=2?—3+ljz,_b>=?+3—2l; and _c>=?+3?—lzandthe
L - > - . 3
projection of vector ¢ + A b on vector a is 2.6, then find the value
of L.
AS8. | According to question
— + - .a
(c+rb)a_, 1
|al
c-a+ib-a
= 7% =26 Y
= 2+A(-1]) =12 1
1
—A=-14 72
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Q9 (a) If a line makes 60° and 45° angles with the positive directions of
x-axis and z-axis respectively, then find the angle that it makes
with the positive direction of y-axis. Hence, write the direction
cosines of the line.
OR 3
() Check whether the lines *~ 1.y ; z2_2 - 3 and
X;4 =y_—1 = z are skew or not.
1 1
A9. | (@) 1 =c0os60°==, n=c0s45° = — Yotls
2 V2
Now, 12+ m?+n? =1
1 1 ”
= =4+m?+==1
4 2
2 1 1
=>m = Z —-> MN= iE A
0=060°
. L . 11 1
Required direction cosines are ( =, =, — 1
2'2' 2
Or
(b) Let, a =1 +2j+3k , ay=4i+]
by =2 +3]+4K, by =51 + 2] +K
a,—a =3 —]-3K Vs
by xby =51 +18] —11k 1%
Here, (ay —&)-(byxby)=—-15-18+33=0 &
Hence given lines are not skew lines. s
(a) Find :
Q10. 1
J' dx
e*+1
OR
3
(b) Evaluate :
4
| REEIES
1
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A10. (a) Let, eX=t , efdx=dt 1y
J. l dX:J. 1 dt 1/
e +1 t(t+1) 2
_ f—— dt Vs
t+1
= log|t|-log|t+1|+C 1
_ X X e Ya
= loge” —log (e” +1)+C or log +C
1+e*
Or
4
(b) 1= [ {Ix]+13-x}x
3 4
= [ X1 +13=xpx+ [ {1 x| +]3-x[}dx 1
3 4
= J'13dx+ j3 (2x —3)dx .
— 3 2 4
= |3x ]y +]x°—=3x]|
1 3 Y,
=6+4=10 1
SECTION—C
Question Nos. 11 to 14 carry 4 marks each.
Q11. Evaluate :
3
| e “
1+e*
-3
4
3 X
All. | Let, | = dx ...(0)
J._3l+ex
3 ¥4
| = dx (using property)
I‘31+e_X 1
3 e*x*
J'3 ...(2) Ys
1+e*
Adding equations (1) and (2)
3 X (1+e )
21 = dx
I?’ 1+e* 1
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3
2-X
=2l = c 1
-3
=1 _ s Ya
5)
Q12. | Find the equations of the planes passing through the line of intersection
of the planes 7. {? + 33): 6and T. (33\ - 3 —4];) = 0, which are at a 4
distance of 1 unit from the origin.
Al2. || et the equations of required planes are: F (i +3)- 6+}»[F-(3f— j—4l2)} =0 1
or r -[(1+3\)i +(3—1) j—4Ak]=6 for some A
According to given condition
6 _1
J 2 2 2 1
@+30)+B-1)"+(-4n)
36=1+90% + 6% +9+1% - 6% +162.2
= 2612 =26 = L=+1 .
Equations of planes are: t -(4i +2]—4k) =6, 1 -(=2i +4]+4Kk) =6 Lyt
013 (a) Find the particular solution of the differential equation
. xd—y+y+ = 0, given that y(1) = 0.
dx 1+x2 4
OR
(b) Find the general solution of the differential equation
x (y3 + x9) dy = (2y* + 5x3y) dx.
. . . . . dy 1 -1
Al3. | (a) Given differential equation can be writtenas —~+—-y=—— 1
dx X7 x(1+x?) 2
1
—ax
I.F.:eIX =elo9x —x 1
Solution is y-x = J. _12 dx+C
1+X 1
:>xy=—tan_1x+C 1
T
Now y(1)=0=C =2
. L T -1
.. Particular solution is xy =Z—tan X 1
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Or
(b) Given differential equation can be written as
dy _ 2y4 +5x3y

Get More Learning Materials Here : & m @&\ www.studentbro.in

=4 =10 points

Based on the above information, answer the following questions :

If both of them hit the Archery target, then find the probability that
(a)  exactly one of them earns 10 points.

(b)  both of them earn 10 points.

(1 Ya
dx  xy®+x? M
\
Let, y:vx:>ﬂ:v+xd— Ya
dx dx
4
Equation (1) becomes v + xﬂ _2V_+5v
dx 341
dv v4+4v
= X—=
dx v341
vl dx 1
7 dv=—
V' +4v X
3
4:1/ +4 dv—4 J- dx Y
V' + 4y X
log | v+ 4v| =Iog(x)4+logC 1
4 3
+ 4yx
log Y ey log cx?
4
X
4 3 8
+4yx° =Cx
y y 1,
Q14. | In a game of Archery, each ring of the Archery target is valued. The
centremost ring is worth 10 points and rest of the rings are allotted
points 9 to 1 in sequential order moving outwards.
Archer A is likely to earn 10 points with a probability of 0-8 and Archer B
is likely the earn 10 points with a probability of 0-9.
o ————
R - -\ - X - - - = == 3 points
m --------- 1 points
e~ T\ " ““-')pu.iul.\
e - \ - = = § points
-7 |mihl.\'
| s
91 Ls 4
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Al4. | P(A)=0-8 ,P(B)=0-9
(a) P (exactly one of them earns 10 points) = P (A)P(B)+ P (A)P(B)

=08%x0:1+0-2x0-9 1Y%
=0-26 1y
(b)P(ANB)=P(A)P(B)
=0-8x0-9
=072
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